
MTS COLLECTIVE MOUNT 
UNIVERSAL
Instruction Manual

Bedienungsanleitung
Mode d‘emploi



2MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

1x

1x

1x

PARTS

 80
 

 4
0 

1x

1x

[dimensions in mm / different scales]
No extra or spare parts listed!

4x

150 80

80

280

40

80

230

40

80

150

40

80



3MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

BAG 1

12x

 30 

 Ø
8 

M8

M6

12x

4x

 6,4 
 12 

4x

 
6 

 16 

4x

12x

BAG 2 

BAG 3

 
4 

 16  8,4 
 24 

M6

4x

2x

 
6 

 18 

2x

black  6,4 
 12 

2x

1x

black

black



4MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

ASSEMBLY

230 m
m

2x
pre-assembled
universal
connector

very loosely
pre-assembled

universal
connector

M8x30

2x
pre-assembled
universal
connector

2x bores here



5MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

150 mm

2x
pre-assembled

universal
connector

turned



6MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

280 mm

pre-assembled
universal
connector

pre-assembled
universal
connector

2x
slot nut

M6
for

VPC Rotor TCS Collective

4x
slot nut

M6
for

Winwing Black Shark 
Collective



7MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

cap

cap

cap

cap



8MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

4x
M4x16

flat head

washer
Ø24

M8x25
original from

Virpil

Assembly of a VPC Rotor TCS Collective



9MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

2x
M6x16
black

2x washer
black



10MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

Assembly of a Winwing Black Shark Collective

4x
M6x16

4x
washer Ø12



11MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

4x
slot nut

M8

4x
M8x30

4x
universal
connector



12MTSIM MTS COLLECTIVE MOUNT UNIVERSAL MANUAL

choose position 
as you like



19-03-2022

possible position
adjustments


